
Domáce zadanie č.2           1.B 

Odovzdať do: 20.11.2015       Meno:________________________ 

 

1. Upravte:  
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2. Upravte tak, aby výraz obsahoval len kladné exponenty:  

a. 




426

324

rnm

rnm
 

 

b. 




624

342

zyx

zyx
 

 

c. 












3

36

23

ba

ba
 

 

d. 












4

54

45

ba

ba
 

 

e. 
33

4

4

23

5

32

69

2

4

3

ca

b

a

bc

c

ba
 

 

f.  3534 abba  

 

g. 




22

1

yx

xy
 

h. 
xm

z

yx

zm

m

zyx
2

4

23

4

5

432

42
 

i.  yxyx 2279  

j. 




43

21

yx

yx
 

 


